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I. Four alternatives are given for each of the following questions/
incomplete statements. Choose the correct alternative and write the 
complete answer along with its letter of alphabet.

[8 x 1 = 8]

1. If the nth term of an arithmetic progression is an=3n+1, then the 4th term 
of the progression is

(A) 10 (B) 13 (C) 11 (D) 12

2.  The rational number having a non-terminating and repeating decimal 
expansion in the following is 

(A) 1
52  (B) 7

22 x 5  (C) 5
2 x 7  (D) 1

23

3. In a class, ''the number of boys (x) is 5 more than the number of girls 
(y)." The linear equation form of this statement is

(A) x - y = 5   (B) x = 5y 

(C) y - x = 5   (D) x + y = 5

4.  The quadratic polynomial whose sum and product of zeroes are 4 and 
5 respectively is

(A) p(x) = x²-4x-5  (B) p(x) = x+4x-5 

(C) p(x) = x²-5x+4  (D) p(x) = x²-4x+5

5. The coordinates of the midpoint of the line segment joining the points 
(4, 3) and (2, 1) is 

(A) (2, 3) (B) (2, 2) (C) (3, 2) (D) (1, 1)
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In the figure ABC ∼ DEF. If AB=3cm, BC= 4cm and  
DE = 4.5cm, then the measure of EF is

(A) 8 cm (B) 6 cm (C) 7 cm (D) 6.5 cm

7. In the figure, BP and BQ are the tangents to the circle with centre 'O'. 
If  OPQ  = 20°, then the measure of PBQ  is

 

Q

O

P

B

200

(A) 40° (B) 160° (C) 140° (D) 20°
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8. The total surface area of the solid given in the figure is

'r'cm

'h'cm

'l'cm

(A) A = πrl cm2  (B) A = 2πrh cm2 

(C) A = πr(r+l) cm2  (D) A = πr2l cm2

II. Answer the following questions [8 x 1 = 8]

9. Find the HCF of 7 and 11.

10. How many solutions do the pair of linear equations has, if the lines 
represented by them are coincident?

11. Write the degree of the polynomial p(x) = x²+2x3-5x4+6 ?

12. Find the discriminant of the quadratic equation x²-2x-3=0.

13. Write the formula to find the volume of the frustum of a cone, if the 
radii of its circular bases are 'r1' and 'r2' and its height is 'h'.

14. If the probability of raining on a particular day is 0.75, then find the 
probability of not raining on the same day.
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15. If the ratio of the areas of two similar triangles is 64 : 121, then find the 
ratio of their corresponding sides.

16. Find the distance between the origin and the point (3, 4).

III. Answer the following questions. [8x2=16]

17. Solve the given pair of linear equations. 

2x+y = 7 

x-y = 2

18. Find the 30th term of the arithmetic progression 7, 11, 15 ................. 
using formula.

19. Find the roots of the quadratic equation x²+4x+5=0, using the 'quadratic 
formula'.

OR
 Find the roots of the quadratic equation 2x²+x-4=0 by the method of 

completing the square.

20. Prove that 5+√3 is an irrational number.

OR

 Find the LCM of 12, 15 and 21 by the method of prime factorization.
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21. In the figure, write the value of sinP and sin (90°-R).

 

Q R

P

I

I

√2 

22. Construct a pair of tangents to the circle of radius 3.5cm, which are 
inclined to each other at an angle of 80°.

23. There are 6 red, 5 blue and 4 green balls in a box. A ball is drawn at 
random from the box. What is the probability that the ball drawn is

 (i) not green

 (ii) red

24. In the figure, ABC is a right angled triangle and BAC  = 90°. If AD⊥BC 
and BD=DC then prove that BC² = 4AD2.

B D C

A

IV. Answer the following questions [9x3=27]

25. Divide the polynomial p(x) = x3-3x²+5x-3 by the polynomial  
g(x) = x²-2 and find the quotient q(x) and remainder r(x).
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26. The area and perimeter of a rectangular field are 60m² and 32m 
respectively. Find the length and breadth of the field.

OR

 A bus travels 360 km distance with uniform speed. If the speed of the 
bus had been 10km/h more, it would have taken 3 hours less for the 
same journey. Find the speed of the bus.

27. Find the 'mean' for the following grouped data.

Class-Interval Frequency

0-20 12

20-40 14

40-60 8

60-80 6

80-100 10

OR

 Find the 'median' for the following grouped data

Class-Interval Frequency

0-10 5

10-20 8

20-30 20

30-40 15

40-50 7

50-60 5
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28. A life insurance agent found the following data for distribution of 
age of 100 policy holders. Draw 'less than type' ogive for the given 
data.

Age (In years)
Number of policy holders 
(cumulative frequency)

Less than 20 12

Less than 25 25

Less than 30 40

Less than 35 66

Less than 40 84

Less than 45 100

29. Prove that "the lengths of tangents drawn from an external point to a 
circle are equal".

30. Prove that (cosecA - sinA) (secA - cosA) =   1
tanA+cotA

OR

 Find the value of    sin30o + tan45o - cosec60o

sec30o  + cos60o + cot45o

31. Construct a triangle of sides 6cm, 8cm and 10cm. Then construct 
another triangle whose sides are 3

4  times the corresponding sides of 
the given triangle. 
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32. In the figure, the length of the arc AB of the circle with centre 'O' is. 
11cm. If OP=4cm then find the area of the shaded region. 

 

O

P

A

B

33. Find the coordinates of the point which divides the line segment joining 
the points (-1,7) and (4,-3) in the ratio 2:3.

OR

 Find the area of the triangle whose vertices are (7, -2), (5, 1) and (1, 4)

V. Answer the following questions. [4x4=16]

34. Find the solution of the given pair of linear equations by graphical 
method.

 x + y= 5

 2x + y = 7

35. State and prove 'Basic Proportionality Theorem' (Thales Theorem).
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36.  As observed from the top of a building standing vertically on the 
ground, the angle of depression of a point 'C' on the ground is 60°. 
From the foot (B) of the building when moved through point 'C' in a 
straight line and observe the top of the building, from point 'P', if the 
angle of elevation has to be 30O (as shown in the figure) then show that 
the distance moved from 'C' to 'P' is twice the distance BC.

A

B P
300

600

C

37. The sum of first 'n' terms of an arithmetic progression is 222 and sum of 
its first (n-1) terms is 187. If the first term of the progression is 2, then 
find the arithmetic progression. 

OR

 The last term of an arithmetic progression consisting of 12 terms is 
37. If the sum of the two middle terms of the progression is 41, then 
find the arithmetic progression and also the sum of the terms of the 
arithmetic progression.
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VI. Answer the following question. [1x5=5]

38. A metal memento has to be prepared by placing a solid sphere on a solid 
cylinder as shown in the figure. Find quantity of the metal required to 
prepare this memento, such that the radius of the cylinder is 6cm and its 
height is 14cm and the radius of the sphere is 2.1cm. And also calculate 
the  cost of painting the surface of the sphere with golden colour at the 
rate of 10 paise per cm2. 

 

6cm

14cm

2.1cm


